LanTel Comm.

B.	This Bid includes Addenda numbered: 1
C.	The proposed total base Bid price is:
	\$ 427.660.60

One Hundred Twenty Seven Thousand Six Hundred Sixty Dollars and Fifty Cents

(TOTAL BASE BID WRITTEN IN WORDS)

Bidders shall include breakdown of costs as requested below.

Item	Estimated			Extended
#	Quantity	Description	Unit Price	Price
		Camera Counts		
		Furnish and install - Dome camera, Axis P3265-	\$_634.25	
1	6	LVE (1080P) or better, per each	Each	\$_3805.50
		Furnish and install - 4 Head camera, Axis	\$_1269.50	. 1980
2	14	P3735-PLE (1080P) or better, per each	Each	\$17773.00
		Furnish and install PTZ AXIS P5654-E Mk II	\$1395.00	_
3	19	(1080P) or better, per each	Each	\$_26505.00
		Furnish and install - Replacement cameras	\$_702.00_	
4	26	using existing drop.	_ <u>_</u> Each	\$_18252.00
		Re-use existing camera and re-locate existing	\$1292.00_	
5	2	drop. per ea.	Each	\$_2584.00
		New cameras and installation of new network	\$_2042.00	
6	13	drop. per ea.	Each	\$_26546.00
			\$_190.00	
7	5	Re-Aim cameras. per ea.	Each	\$_950.00
			\$_200.00	
8	5	Clean and Re-seal cameras. per ea.	Each	\$1000.00
		R & R Camera Conduit in Food Hub Area/ Linear	\$_10.50_	
9	100 ft	ft	LF	\$1050.00
		Remove old analog cameras and install blank	\$_100.00	
10	15	plate per ea.	Each	\$ 1500.00
		Furnish and Install AXIS Network Speaker and	\$_1858.00_	
11	5	CAT-6 Drop per each	Each	\$ 9290.00
		Cameras Below are for Attic Stock and are to be included in the total bid / award price.		

Lan Tel Comm.

12	5	Dome camera, Axis P3265-LVE (1080P) or better, per each	\$_601.00	\$_3005.00
13	5	4 Head camera, Axis P3735-PLE (1080P) or better, per each	\$ 1200.00	\$ 6000.00_
14	5	PTZ AXIS P5654-E Mk II (1080P) or better, per each	\$_1364.00	\$ 6820.00_
15	5	AXIS C1410 Mk II Network Mini Speaker per ea.	\$ 516.00	\$_2580.00
			Total Bid	
			Price	\$ 127,660.50

^{*} award to be based on this total amount

D. BID ALTERNATES: N/A

The owner may select at its option, any Alternate or combination of Alternates, or none of the Alternates. The Bidder is required to provide a bid for each Alternate listed below. If selected by the Owner, the Alternate(s) will be added to the total Base Bid price to determine the low bidder.

E. UNIT PRICES: See above

In addition to stating the Total Base Bid Price, the Bidder shall state prices for the various items of work as may be listed herein. The Unit Prices listed below, if accepted by the Owner in the award of the contract, may be used for computing adjustments during the course of construction, based upon extra work ordered by the Owner, or for work countermanded, reduced, or omitted by the Owner.

F. TIME FOR COMPLETION

All work shall be completed within 60 days from contract execution.

^{**} bidders may offer a higher quality (or better) Axis camera in lieu of the product specified at their own discretion.



В.	Th	is Bid includes Addenda numbered:
C.	The	e proposed total base Bid price is:
	\$	140,630.00

One Hundred Forty Thousand, Six Hundred Thirty Dollars
(TOTAL BASE BID WRITTEN IN WORDS)

Bidders shall include breakdown of costs as requested below.

Item	Estimated			Extended
#	Quantity	Description	Unit Price	Price
		Camera Counts		
		Furnish and install - Dome camera, Axis P3265-	\$1,247.16	
1	6	LVE (1080P) or better, per each	Each	\$ 7,483.00
		Furnish and install - 4 Head camera, Axis	\$1,955.18	VI
2	14	P3735-PLE (1080P) or better, per each	Each	\$ 27,373.00
		Furnish and install PTZ AXIS P5654-E Mk II	\$2,390.43	
3	19	(1080P) or better, per each	Each	\$ 45,418.00
		Furnish and install - Replacement cameras	\$385.43	
4	26	using existing drop.	Each	\$ <u>10,021.00</u>
		Re-use existing camera and re-locate existing	\$946.48	
5	2	drop. per ea.	Each	\$ <u>1,893.00</u>
		New cameras and installation of new network	\$ <u>1,186.92</u>	
6	13	drop. per ea.	Each	\$ <u>15,430.00</u>
			\$ <u>128,40</u>	
7	5	Re-Aim cameras. per ea.	Each	\$ <u>642.00</u>
			\$184.00	
8	5	Clean and Re-seal cameras, per ea.	Each	\$_920.00
		R & R Camera Conduit in Food Hub Area/ Linear	\$11.80	=
9	100 ft	ft	LF	\$_1,180.00
		Remove old analog cameras and install blank	\$ 79.17	
10	15	plate per ea.	Each	\$ 1,188.00
		Furnish and Install AXIS Network Speaker and	\$1,187.75	
11	5	CAT-6 Drop per each	Each	\$5,939.00
		=		
		Cameras Below are for Attic Stock and are to		
		be included in the total bid / award price.		

Ostrow

		Dome camera, Axis P3265-LVE (1080P) or	1	
12	5	better, per each	\$824.79	\$ 4,124.00
		4 Head camera, Axis P3735-PLE (1080P) or		
13	- 5	better, per each	\$1,538.94	\$ 7,695.00
		PTZ AXIS P5654-E Mk II (1080P) or better, per		
14	5	each	\$1,626.03	\$ 8,130.00
15	5	AXIS C1410 Mk II Network Mini Speaker per ea.	\$638.81	\$ 3,194.00
			Total Bid	
			Price	\$140,630.00

^{*} award to be based on this total amount

D. BID ALTERNATES: N/A

The owner may select at its option, any Alternate or combination of Alternates, or none of the Alternates. The Bidder is required to provide a bid for each Alternate listed below. If selected by the Owner, the Alternate(s) will be added to the total Base Bid price to determine the low bidder.

E. UNIT PRICES: See above

In addition to stating the Total Base Bid Price, the Bidder shall state prices for the various items of work as may be listed herein. The Unit Prices listed below, if accepted by the Owner in the award of the contract, may be used for computing adjustments during the course of construction, based upon extra work ordered by the Owner, or for work countermanded, reduced, or omitted by the Owner.

F. TIME FOR COMPLETION

All work shall be completed within 60 days from contract execution.

^{**} bidders may offer a higher quality (or better) Axis camera in lieu of the product specified at their own discretion.